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QUESTION 1

You are using Oracle Cloud Infrastructure (OCI) services across several regions: us-phoenix-1, usashburn-1, uk-
london-1 and ap-tokyo-1. You have creates a separate administrator group for each region: PHX-Admins, ASH-Admins,
LHR-Admins and NRT-Admins, respectively.

You want to restrict admin access to a specific region. E.g., PHX-Admins should be able to manage all resources in the
us-phoenix-1 region only and not any other OCI regions.

What IAM policy syntax is required to restrict PHX-Admins to manage OCI resources in the us-phoenix-1 region only?
(Choose the best answer.)

A. Allow group PHX-Admins to manage all-resources in tenancy where request.region= ‘phx’

B. Allow group PHX-Admins to manage all-resources in tenancy where request.permission= ‘phx’
C. Allow group PHX-Admins to manage all-resources in tenancy where request.target= ‘phx’

D. Allow group PHX-Admins to manage all-resources in tenancy where request.location= ‘phx’

Correct Answer: A

QUESTION 2

You have recently been asked to take over management of your company\\'s infrastructure provisioning efforts, utilizing
Terraform v0.12 to provision and manage infrastructure resources in Oracle Cloud Infrastructure (OCI). For the past few
days the development environments have been failing to provision. Terraform returns the following error: You locate the
related code block in the Terraform config and find the following:

Error: Missing item separator

on ven _peer_lab.tf line 15, in resource “cci_core security list” “ManagementSecurityList”:
15: tcp _options = [min = “22%, max = “22"]

Expected a comma to mark the beginning of the next item.

(11) ingress security rules {

(12) protocol = ©

{13) source = "0.0.0.0/0"

(14)

{15) tep options = [min = “22%, max = “22"]
(16) }

Which correction should you make to solve this issue? (Choose the best answer.)
A. Place a command at the end of line 16

B. Modify line 15 to be the following: tcp_options = {min = “22”, max = “22")
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C. Modify line 15 to be the following: tcp_options { min = “22” max = “22” }
D. Replace the curly braces { } in lines 11 and 16 with square braces ‘[ ]

Correct Answer: B

QUESTION 3

You have been monitoring your company\\'s applications running in Oracle Cloud Infrastructure (OCI) and notice that
the application is using OCI Traffic Management service. This service uses a traffic steering policy to distribute the DNS
traffic based on subnet addresses in a rule set.

Which steering policy is in use in this particular case? (Choose the best answer.)

A. Load Balancing policy

B. Geolocation steering

C. ASN steering policy

D. IP Prefix steering

Correct Answer: C

Reference: https://k21academy.com/1z0-997/traffic-management-in-oci/

QUESTION 4

The boot volume on your Oracle Linux instance has run out of space. Your application has crashed due to a lack of
swap space, forcing you to increase the size of the boot volume.

Which step should NOT be included in the process used to solve the issue? (Choose the best answer.)
A. Reattach the boot volume and restart the instance.

B. Attach the resized boot volume to a second instance as a data volume; extend the partition and grow the file system
in the resized boot volume.

C. Stop the instance and detach the boot volume.
D. Resize the boot volume by specifying a larger value than the boot volume\\'s current size.
E. Create a RAID 0 configuration to extend the boot volume file system onto another block volume.

Correct Answer: B

QUESTION 5
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Which two statements about the Oracle Cloud Infrastructure (OCI) Command Line Interface (CLI) are TRUE? (Choose
two.)

A. You can run CLI commands from inside OCI Regions only.

B. You can filter CLI output using the JMESPath query option for JSON.

C. The CLI provides an automatic way to connect with instances provisioned on OCI.

D. The CLI allows you to use the Python language to interact with OCI APlIs.

E. The CLI provides the same core functionality as the Console, plus additional commands.

Correct Answer: BE
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